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I Practice
1.5 For use with pages 35—41

Zl t 22 = qo° : 22 } ¢33 = |80
Z1 and £2 are complementary angles and £2 and £3 are supplementary
angles. Given the measure of £1, find mZ2 and m/3. ‘
1. mL1=80° 2, ms1=33 G ms1=72 @m41=7°
MmL2=90 -80 |MLa=i6’
- mE3=190-16 gm;:mo']

Find m£ABC and m. CBD.  meABL & MeLBD = m2ABD

CEN

- ~(5x — 22)°\ (8x + 46)°
(3x — 10)° A B D J(2x+ 1P\ (Bx = 31)°
D - A B D

In Exercise@ use the diagram. Tell whether the angles are.
vertical angles, a linear pair, or neither. :

@ 8. /1and /3
9. /2and /3 Y
10. Z4and /5 : ) .
11. /5and /8
12. L4 and £9

_ X = 3y - A i-}j:‘io.
13. The measure of one angle is three times the measure of its[comE!ement.’Find the

I S 00— e D) E

measure of each angle.

X-tg 0. 3ty x=490-225 [22.5%nd (1.5°

pe E hy =90 XzL17.5°
| 4y=22.5'
@ Two. angles form a linear pair. The measure of one angle is 8 times the measure of
the other angle. Find the measure of each angle.
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Me measure of one angle is 38° less than the measure of its supplement. Find the - /
. easure of each angle 4 B
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' | 15 For use with pages 35—41 ’ :;; t 4 ;& ]+
1 Find the values of x and y.
]
i 16.
o

\ |.5(|0) 17. \ '
Nl s

3y°\'
.ff.’?r’i{ = Jte . X( ﬁ’,)

200 = LS
.

| 1
ik
1

B+ @ =100
11‘5)( t 1.5 X 218020

18X =180 i A,.gf.:;;
X=10| '80-15= |u5. p ih o cB

3 M

! e “1 = v'\\ivg

¥ L N =
H'“g‘f‘ i )
o ™ e o ‘g ‘K

.y 4

' 19 \ " 20 1
( : ' (14x + 4)° e _(28x— 7)) (24x + 18)°.
| “(16x — 4)°| 4y — 8)° (12y + 30)° o

=

Tell whether the statement is always, sometimes, or never true.

22. ’ifwo complementary angles form a linear pair.

23. The supplement of an obtuse angle is an acute angle. .

24. An angle that has a sﬁpplement also has a complement.

e AA and AB are complementary angles Find mZA and mZB.

; 3 25. mLA=x 26. mZA= (4x+34)
i ' " m/B=(2x- 75)° mZB= (x + 36)°
| .
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: .27. m/A = (4~ 18)° 28. m/A = (2x+ 10)°

R : mZB = (6x — 18)° ' mZB = (—x + 55)°
K .
|
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15 For use with' pages 35-41

Cht2B =160

Z A and Z B are supplementary angles. Find m2ZA and mZB. 4

29. mfA=(x+50° - 30. mlA=6x°
mZB = (x + 100)° m4LB = (x + 5)°
31 msAd=(x+3)° . 32. mZA = (—4x + 40)
. m<B=(3x—223° . _ mZB = (x + 50)°

Roof trusses can have several different layouts. The diagram below shows
one type of roof truss made out of beams of wood. Use the diagram to
identify two different examples of the indicated type of angle pair. In the -
diagram, £ HBC and Z BCE are right angles.

33. Supplementary angles e B ' ' Cc

34. Complementary angles

35. Vertical angles
36. - Linear pair angles

37. ' Adjacent angles

38. Angle of elevation An‘-angle of elevation
is the angle between the horizontal line
and the line of sight of an object above the
horizontal. In the diagram, a plane is flying
horizontally across the sky and £ RST
represents the angle of elevation. How -
is the angle of elevation affected as the
plane flies closer to the person? Explain.
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